KA - A
(i) The weight assigned to 1,250 percent equals D — A .

DK,
(i1) The weight assigned to 1,250 percent times Kgspa equals D — A .

(iii) The risk weight will be set equal to:

RW = [(%: j) 1,250 percent] + [(%ii:‘) 1,250 percent - Kssea]

(d) SSFA equation. (1) The [BANK] must define the following parameters:

Ky ={1-W) K+ (05 W)

1= max(4 — K, 0)

e = 2.71828  the base of the natural logarithms.

(2) Then the [BANK] must calculate Kssga according to the following equation:
K _ e-u _ eﬁ‘i

SSFA a (u B l)
(3) The risk weight for the exposure (expressed as a percent) is equal to

K&gp‘g x i,EEa .



